H & 0l & AHS B Ml A

2H: AL
HE: SolMAL I|UEA
el S| (ol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
20,160,359 25,006,241 N4,845,882
= 1,274,000
== 1,778,750
Al 17,107,609
P |l e 9,710,410 11,878,974 A2,168,564
= 80,000
< 1,528,750
Al 8,101,660
2 BHALS 9,710,410 11,878,974 A\2,168,564
= 80,000
== 1,528,750
Al 8,101,660
FelAE=E 28 & JHl 43,810 44,315 505
101 e124d| 7,8% 8,360 2505
M ORINZZ2NSE S 7,8% 8,360 505
OMA HES4T Mgzl 2 7,856
—Jl=2
10,0302 #4A| 2H+1H 2124653 5,477
—F=5=¢ 10,0302 #4A| 2tx1H 31 1,244
—Ex==E 10,0302 x4 1 H+6 241
—FL2PE
10,0303 *1.5% 18~ 16 .53 ]
—=glo= 7,058,6132 *4.5% 318
—22EE 7,058,613 2 %3.545% 251
—H|RAEE 250,228 %12.95% 3
—1NEES 7,058,6132 *1.75% 124
— & HEE 7,058,6132 *0.966% 69
201 fer23y| 35,955 36,955
02 S3=gl 35,955 356,955
OsgdL JIBAIE Qs (T, 8X
HS) 35,0003 5004 2=+ 123 21,000
OsgSlgad =2 ZAHI
114,000& #3204 2 3,648
O otxzte| tHEARHI(7IHA)
1,069,000 794 A 7,483
Ostai I (2=2]) |Al2e
23,7503 x161CH 3,824
sSAIIBHEH(E2 7RS35} (HEALY) 600,000 500,000 100,000
< 400,000
Al 200,000
401 AlEHIZL S0 600,000 500,000 100,000
= 400,000
Al 200,000
01 Al&H| 600,000 500,000 100,000




S AT
HE: SoMA | EY
Cel: SHIIBHALY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF=+2 X253 SA
500,000,000 » 14 500,000
= 400,000
Al 100,000
O2024E &2 FE23 SAH'249 £H W
SA) 20,000,000 #5I1 2 100,000
Na=XIE2=S At 550,000 40,000 510,000
401 Al HIZL 201 550,000 40,000 510,000
01 A&t 550,000 40,000 510,000
L2918 4K 242 500,000
S ES =P
10,000,000 %47H 40,000
—HE HIHAK B4EY
300,000,000 *1IH 2 300,000
—Ii2 HEHAX 242
160,000,000 * 100 A 160,000
OUSHAX 28 H4+22 T48
50,000, 000& *14 50,000
SHsS sLAES SN (HEAY) 4,663,100 4,796,620 A93,520
201 et 3| 300 300 0
01 AtR2te|Hl 300 300 0
O=gIIBtAY =8 SALZX Y (ST
f38) 23,0003 38+ A 69
O=gDIBtAteY F=X Z2lf £ 7(Es
e s) 115,500 *2H 231
202 048l 800 1,320 A520
01 2L AL 800 1,320 AD20
OSIIBAIY ADOUF U ABAIRAEX
S0 60,0002 x2& +2& 240
O=gIIBAIE EH| gl
20,0003 x1H 22 143 560
401 Al HIZ 2018 4,662,000 4,755,000 A83,000
01 Al&HI 4,650,000 4,740,000 /90,000
OA+2 s8JIBAIE FHIAY
20,000,000%21024 4,200,000
OSYULIIBAIE HYEX SFHL
1,250,000 1002 K| 125,000
OsYE M=Kl SHIIIA
1,041,666 x48JH 2= 50,000
Ok= clANd= RA2c
20,000, 000& x5 100,000
OsgEUE2E AM=ae| & SSFXIM 175,000
— A 4,300,000& »24= 103,200
— Atz 2 2,991,6338 243 71,800
03 Al 2 HYI 12,000 15,000 A3,000




SA AL
HE: SolMAL I|UEA
Cel: SHIIBHALY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAn2FU=UNG (S22, EH+2)
1,200,000& 102! 12,000
YAT BLHATA 800,000 100,000 700,000
401 Al&HIZ S| 800,000 00,000 700,000
01 Al&H| 800,000 100,000 700,000
OY%H Ala B2
10,000,000 10 100,000
O22+d A= st & HSSA
175,000,000 *4H 2~ 700,000
SN 222 3At 40,000 140,000 100,000
401 AlEHIZ 2018 40,000 140,000 100,000
01 A&l 40,000 140,000 100,000
©% 91 YIH AM P42
10,000,000 *49H 2= 40,000
SHESA S22 ZHIAE 300,000 0 300,000
403 AXIEHHSAH=201H 300,000 0 300,000
02 S 2SOt st = & 2 E A ] 300,000 0 300,000
OSHESAL Sl+=2 Al
300,000,000& *14] 300,000
AlzZ&el M=K & at 20,000 20,000 0
= 6,000
Al 14,000
401 A& HIX R0 20,000 20,000 0
= 6,000
Al 14,000
01 A28l 20,000 20,000 0
OAlZ2tel M=Kl & &I
20,000,000 *1IH 2 20,000
< 6,000
Al 14,000
SHE 1Y =2 2 2 FH|(HEAr) 883,000 564,539 318,461
305 Hia =S 3,000 3,000 0
01 =S 3,000 3,000 0
OS DA AP0 [HE AoHHHA
= 1,000,000 374 2 3,000
401 Al HIZ S OHbI 880,000 560,000 320,000
01 AlZ2H| 880,000 560,000 320,000
=35 2 HE3A
80,000,000 *1IH 2 80,000
Oo4Hotd LiS0ls 52 SESA
30,000,000 *10H 2~ 30,000
O4Hotd WEL =2 HESA
30,000,000 *1IH 2 30,000
OHotd Li2el s2 =HESA
30,000,000 *1IH 2 30,000




SA AL
HE: SoMA | EY
Cel: SHIIBHALY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odd 0I=0t= =2 ZHISA
20,000,000 * 100 2 20,000
OBZS YES S42IUIBA
50,000,000 *1IH £ 50,000
OsF8 0= SZEHISA
25,000,000 * 11 2 25,000
OsF5 S80l= == 8HISA
50,000,000 *1IH 2 50,000
OggH 2Asits sZEHISA
25,000,000 *1IH £ 25,000
OYetH 2HA0E -2 88ISA
25,000,000 * 11 2 25,000
O A &Xcl SZ2EESA
25,000,000 * 100 2 25,000
O2AMH Bt~ A2t SZFHISA
25,000,000 *1IH 2 25,000
OZAIS 2ctitE tH=2FHIS A
25,000,000 %11 2 25,000
Odlgd =S0l= tH+==ZHISAH
100,000,000 *19H 2 100,000
OZsYH dE0E 7 H FHISA
30,000,000 *1IH 2 30,000
O&ZH 202 2 AF3A
25,000,000 *10H 2~ 25,000
OLFS WIS W42 &XBM
25,000,000 * 100 2 25,000
O=gH &0i0ts 22 g% FHEHI
50,000,000 *1IH 2 50,000
O=Fg8 =8 Mg ZESA
30,000,000 *10H 2~ 30,000
O=gd Qi EXits #H =&
30,000,000 *1IH 2 30,000
Oggd FuitS =2 F4|
50,000,000 *1IH 2 50,000
OJIBE O Hi+2 HHIZAl
50,000,000 *10H 2~ 50,000
O&AtS SH0E ti=2 ZHISA
50,000,000 *1IH 2 50,000
SN sIIEAIE EH 100,000 140,000 /40,000
401 AIZHIX 20HH 100,000 140,000 40,000
01 AlZ2H| 100,000 140,000 240,000
Oz SXY 52 & Ei+=2 |
25,000,000 *424 100,000
2I18H ZHIAIYG (HEALY) 1,050,500 1,000,000 50,500
= 956,750
Al 93,750
401 Al HIZ 2018 1,050,500 1,000,000 50,500
= 956,750




SA AL
HE: SolMAL I|UEA
Rl SSIIEALE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 93,7850
01 AlZ2H| 1,050,500 1,000,000 50,500
O&&Al &I18F HH|AHY
937,500,000 *14] 937,500
== 843,750
Al 93,750
OFg 23 Wil HyIAL
113,000,000 *14] 113,000
= 113,000
AzZ&e] s==M==Xl HE+=SAt 500,000 420,000 80,000
S 150,000
Al 360,000
401 Al HIZL 201 500,000 420,000 80,000
= 150,000
Al 350,000
01 AlZH| 500,000 420,000 80,000
OAlZ2tel M=Kl HESSA
500,000,000 *1H 2~ 500,000
s 150,000
Al 350,000
N2e M HES=A 160,000 0 160,000
= 80,000
=S 16,000
Al 64,000
401 AIEHIZL SR THY] 160,000 0 160,000
= 80,000
= 16,000
Al 64,000
01 AlZH| 160,000 0 160,000
OXZ2AelSEM HEFAY
160,000,000 *1IH 2 160,000
= 80,000
= 16,000
Al 64,000
otd HH| 8,347,809 10,841,733 A2,493,924
= 1,194,000
s 250,000
Al 6,903,809
oA HHIAH 8,347,809 10,841,733 A\2,493,924
= 1,194,000
= 250,000
Al 6,903,809
CAGHE I (M EALY) 1,502,978 5,541,033 A\4,038,055
101 21AH| 745,177 804,353 N59,176




SA: AT
g ot HH
el S EHIAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORNZZENSE S 745,177 804,353 N8, 176
Okdotd 38l € =3t A=Y 428,966
—Ql2H| 80,2402 x24H+21 2«8 323,528
—F5=4 80,2403 x24H 35 67,402
—R35Y 80, 24021 x4 % +32! 16,407
—FY22sy
80,2403 *1.5«4H 156 7,222
—E = 80,2403 x24 H 8 15,407
OL4otd 2H1J| 12 240,230
—QI2A4H| 99,6803 x10E 21 +8E 167,463
-5+ 99,6802 x10H 36 34,888
—gd2F+
99,6802 *1.5«4& x50 29,904
—Ex=E 99,6803 10 +8L 7,975
O4th Alel2E = 75,981
—=0le= 677,171,000 *4. 5% 30,473
—AIEE 677,171,000& *3.545% 24,006
- 24,006,0002 *12.95% 3,109
—1E2E 677,171,000& %1.75% 11,851
— & HEE 677,171,000& 0. 966% 6.542
201 er23 | 114,840 146,367 A31,527
01 At2teltl 21,401 42,996 N21,595
O=aotd FAlZel ARES 7Y
120, 100& %102 1,201
O=dlotd FHl0 HE ASAEME & &
25 7Y 100,000& * 122 1,200
O=4std W stE4 ZHI(3EX, 228
= 1Y) 500,000& * 122 6,000
O=ystd sAlzelol e 223 (ol
xIg 8) 800,000& 122 9,600
Ok4otd 22| aZd 225 28
200,000 x1H =23 400
Ok4otd &HHl FHIYR=
500,000 62 3,000
2 s5=34l 93,439 103,371 N9,832
Octd&EHl dgXxtg 2E || 6,079
— NSt ZAE 150,000 +1CH 150
—SFNERE= 379,000 1CH 379
— NS XA 150,000 «1CH 150
—itg 75U 250,000 x 122 «1CH 3,000
—2e X KA
200,000« 123 = 1CH 2,400
Osdaad 2=l dIIMNE=
4,000,000& ~12& 48,000




2A: AL
MM 51 H|
el S EHIAY (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OSd ZJBXY MIIAEE
650, 000! * 122 7,800
OsExFE X2 L MIIANEE S 2
5 203 1,200,002 % 128 14,400
ONXI| S SARX KR
230, 0008+ 122 2,760
OZAFIAE R84 22 BEIF HIIAIE
= 1,200,00024% 122 14,400
203 PR FEA| 4,000 1,000 3,000
03 Al ERI G2 FAIY| 4,000 1,000 3,000
OZAGHE QX2 2N
4,000,00021%14] 4,000
206 HEH| 8,961 11,313 12,352
01 T2t 8,91 11,313 2,352
OZAGHE BEHX Yo & %=
300, 000! * 122 3,600
OSAGHE $ENN AHEDY
300, 000! * 122 3,600
OZAGHE BHX BN
58,7002 %307H 4 1,761
401 AIAHIZ 20| 630,000 4,575,000 3,945,000
01 Al&t] 630,000 4,575,000 3,945,000
CAEH AIZE STZCIA (SR, &
M2, REAL S) 774,19321%15524 120,000
OSABIA X317 AT L 22|
20,000,0002* 1024 200,000
OBt THHTHHIAIE RXI2e 250,000
—JtEs |r2el
225,000, 0008 174 £ 225,000
—HHFENY 22| B
25,000,000 %174 2 25,000
Ostd U 230 QX2 A 60,000
—5HA L B3 ANLSRXES
4,000,000 #5LH 20,000
—AE2 H)|"Y 29
20,000,000 %27 4 40,000
StEKXZR 902, 100 902,700 2600
202 04| 2,100 2,700 2600
01 2LH0H| 2,100 2,700 600
OB YL T IIHE L R0IF
Ea 60,0002 *5H+73] 2,100
401 AIAHIZ 20| 900,000 900,000
01 Al&t] 900,000 900,000
088 SIEKRX22IAY
15,625, 0002 %3200 4 500,000




SA AL
L Tt
&2l oHE EHIAKY (SH &)
SA - A BRA(3H) - HRA - of v G o HIDE2
Odtd ElXE =4 & FFHH ME(11H S
o SIEELBA
20,000, 000& *200H 2 400,000
A5t FHIAIS (B EAL) 2,500,000 3,000,000 /500,000
401 AIE2BIXL S THYI 2,500,000 3,000,000 /500,000
01 AlZH| 2,500,000 3,000,000 A500,000
O2otd bl & FA22IALE 2,500,000
—=M & |A22l(2H2) 2,500,000
=Jtotd RAE=+ 1,194,000 181,000 1,013,000
= 1,194,000
401 Al HIZ S OHbI 1,194,000 177,000 1,017,000
= 1,194,000
01 Al&HI 1,194,000 177,000 1,017,000
O=Jtold FA2=+
1,194,000,000& » 14} 1,194,000
= 1,194,000
ME{olE SRAIY At=2tel 50,000 70,000 220,000
401 Al HIZ 2018 50,000 70,000 220,000
01 Al&H| 50,000 70,000 220,000
OUWEotE S At=2c] S99
50,000,000 *1IH 2 50,000
23 SHETHOH Ol A (HEALY) 250,000 1,000,000 A750,000
== 250,000
401 Al HIZ 2018 250,000 1,000,000 A750,000
= 250,000
01 Al&HI 250,000 1,000,000 A750,000
O=23 otETHGH Ol AL
250,000,000 *10H 2~ 250,000
= 250,000
S& FJtotdE 2=y 29 180,000 0 180,000
401 AIEHIZ SR 0HYI 180,000 180,000
01 Al&H| 180,000 180,000
Osd =Jlotd Jl=+a 89
180,000,000 *14] 180,000
=183 s A2 At 1,002,000 0 1,002,000
203 HR=H| 2,000 2,000
03 A= LR F&IH| 2,000 2,000
OHZLIZAIY 9D =X
2,000,000 %14 2,000
401 AIEHIZ SR THYI 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
Oz=de~=Jtgd id HB A
1,000,000,000& *14] 1,000,000
SHs ot dt] 185,000 0 155,000




SA AL
Z: 51E By
s ol EHIAL (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 165,000 155,000
01 Al&H| 185,000 185,000
OZSH H202 Aot FE|
25,000,000 * 100 2 25,000
Ot AGH (AH2IA) ZHISA
100,000,000 * 194 2 100,000
O4SS XHI= ofdEHISA
30,000,000 *10H 2~ 30,000
2024. 9. S LU0 [IE SHHAESH 611,731 611,731
401 Al HIZ 2018 611,731 611,731
01 Al&H| 611,731 611,731
O2024. 9. =IloH0ll [HE otEAIE Lo =+
Ar& 611,731,000 x 14 611,731
=X 1,058,929 1,380 1,057,549
=Xt 2kel 1,068,929 1,380 1,067,549
CA =R RA R =8 FA 300 1,380 21,080
201 er23 | 300 300 0
01 At2teltl 300 300 0
O4TE ASEF SABX 7
23,0002 x5t A 115
O=Xtd gR2F4 ey EH £ AIRESS
- 185,0002 %12 185
SENBEE A= 2L 1,068,629 1,068,629
101 @124H| 44,448 44,448
M ORNZZ2NSE S 44,448 44,448
Od &y SddHl dFY 39,961
—Jlzs
10,0302 *6AI 2Hx2F +212 123 30,331
—F5=4 10,0302 +6A| 2H+2H x52 6,259
-5+ 10,0302 «6AI 22~ 16 1,926
—Ei==g 10,0303 *6AI 22« 123 1,445
OQ&E ey 38| Ry 4i2g= 4,487
—=gld= 39,959,520 4. 5% 1,79
—JdHEE 39,959,520 *3.545% 1,417
—1E2E 309,959,520 *1.75% 700
— & HEE 39,959,520 0. 966% 387
—IRLEE 1,416,565% 12.95% 184
201 fet= 3| 174,181 174,181
01 AtR2te|H] 14,000 14,000
OLa]eldd otdd ot&X F#¢
400,000 123 4,800
OQENZH ANE=E FAES 7
422, 2003 +92] 3,800
O eZd M|t HAE S
5,400,000 14] 5,400




SA: AT
EL RS (0
p HE N v F= o) (Gt H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
02 S5=g4l 160, 181 0 160, 181
OLAelZd ANE=E &IIes
6.,000,000& 123 72,000
OLAelZH ANE= dotekRs
6,500,000& «12& 78,000
O OV & SAZASAR=
848,400 122 10,181
401 Al HIZL 201 840,000 840,000
01 Al&HI 640,000 640,000
O elZd & =XUHE AE=ZHISA
20,000, 0002 *25JH 2 500,000
OQENEE d+k 2 ui
333,328 x120m 40,000
OQEZd =HE HIATY 100,000
— XHAHb| 25,0003 *2,500=2 62,500
— A1 THH| 37,500,000 x 14 37,500
04 SAL2EAIZH] 200,000 0 200,000
O2deldd QB OILH= 2 200,000
—S=0/AI4 EXI2E HHES
200,000,000& *14] 200,000
AL =Y 6,000 7,040 A 1,040
RN P e 6,000 7,040 1,040
== e AEfZAL 6,000 7,040 1,040
201 fet=3| 5,000 5,000 0
01 At 22|l 5,000 5,000 0
O=2 et AEHEAL S22
500,000 *10& X| 5,000
202 04l 1,000 2,040 21,040
01 2LHoIH 1,000 2,040 1,040
O==MAAISH I R S8ES Sd 28
1]l 20,0003 x2& x193] 760
OOJtESA 28l & HAEHRFA 0]
60,0002 x2EH* 12 *13] 120
O=2 et MAAAE WF
60,0003 22 120
Mo & THEH o e 893,559 1,126,154 A232,59%
KHoH , A t2tel 893,559 1,126,154 N232,595
Bi=8IE X 2HFJAIE 28 893,559 1,126,154 N232,595
201 fer=3| 492,459 724,561 A232,102
01 AtR2t2|HI 40,819 40,813 6
Oti=B82d & 2NFAE 29 40,819
~HAETE Y SLHBAIL OV 82
> B9 42,5002 x 11 2+ 123 5,610
~HISEIE U SLHBAIL 2012 2
« 115,0002 x100H A% 123 13,800




2A: AL
e LR TeTRL-TH VTR I
el THoH, AHt2kel (EEEE))
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
“HISEIE U SaNzAlE Mo
2l je a4z
640,000 *5 A~ +62 19,200
—HIABOR U SAHBAIL OHHEE
e 504,5002 *23] 1,009
—HIAETE U SAHBAIL FIIQHD
elxt HAE3 105,0002 +5 525
CHIABIE U SAHBAIE MI|OHE
210w 135,000 2152 675
2 ZZ 2| 451,640 683,748 ~232,108
OH+BIE U 24HTAL 222l 451,640
—HIAETE U SAHBAIL ST A&
a3 9,000,0002! 671 A +6 2 324,000
—HAEIN W SANBAIE MY MR
= 410,000&x 110 A+ 12& 54,120
~HIAEIE W SAWBAIL S4R3
200,000 x 111 A+ 12 26,400
—HIAETE U SAHBAIL ASIHER
= 200,000 x 110 A% 12 26,400
—HIAEIE Ja0 SNEeE
100,000 *4JH 2 400
—HIAETE O SAHBAIL ALK
H SANEF=2 1,951,000 *109H 2 19,510
—HHABIE GAEAED]| ol2y)
1,620&*500L 810
202 0idl 600 1,080 2480
01 =LHOIH| 600 1,080 A 480
Of+BORSY 248 L AL 2t
= Mol &4
60,0002 *1Zx2 2 *53] 600
206 =4l 500 513 A13
01 M=l 500 513 A13
OH+BIE |z 245 W=t
250,000& * 23| 500
401 A& HILS0HY| 400,000 400,000
01 AlEHI 400,000 400,000
OH+BOE @ SANRAL AILS S
22N 400,000
~ECHjABETE DABITATA
100,000,000 *1CH 100,000
— | EH BYUOHEY B
5,000,000 *6IH 2~ 30,000
—=D9 ®I|EH| st 8
4,000,000 %574 A+52 100,000
—ALSOEYN [IE AlME HIIHZE
o 6,250,000 44 2 +23| 50,000
—QaX EZL2A
10,000,000 * 1071 2 100,000




S AL
S Mol & T ol
s THoH, A2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—NE2 SXBEBA
2,000,000 * 1000 2 20,000
YA (AL D) 143,652 147,643 A3,991
el 81,332 85,023 23,691
elIg =3l 81,332 85,023 23,691
101 e124d| 81,332 85,023 23,691
01 &= 77,436 77,422 14
OAlIRAZ 25
11,9502+ 182 +30A| 2+ 123 77,436
02 JIEtAE = 3,8% 7,601 A3,705
OAlteI22+E
10,8213 x1&x30A[ 2+ 122 3,8%
Jl=23sl 62,320 62,620 A300
JI23Hl 62,320 62,620 A300
201 =3 26,200 24,820 1,380
01 At22t2lt] 26,000 24,100 1,900
OAIRE SASX 7Y
25,0003 » 1888 A 4,700
OAIRE =AD| 2R X2
700,000 * 12 8,400
o2 NRES #¥ 70,0002 x20H 1,400
oMY BES8Y
70,0003 %102 700
OAHEYER=N SAH
9,000 x20H+52* 12 10,800
02 S3=gl 200 720 AD20
OHER SHR= 16,6002 x 122 200
202 04| 31,920 33,600 1,680
01 =LHOLI 31,920 33,600 21,680
OJ|22UEE NI
140,000 x 198« 12& 31,920
203 HR=H] 4,200 4,200
4 A2 LRF2I 4,200 4,200
ORNEgE =AY
350,000 * 12 4,200




